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Instructions to th

i) E ach 'f’;étiotz,ﬁ icfa?}'vies 10 marks. w
2) Grrzbh p;tper"\;vi{! not be provided.
L 3) L;se of nen-scientific calculator is allowed.
- Q1) Solve atty five: N - [5%2=10]
a)  Define Probability. &y
b‘) - List techniques of'initial skolufw
¢)  Enlist various methods ofﬁﬁ,
d) Whatis 2%2.7er0 Sum. 2
¢) Enutherat@any two qﬁantliafwe techﬁiques for optimal decision in business.
f) \ List thé drawbacks ofigraphical solution in LPP.
e

g) Define total float in Network diagram.

h)  Define (M/M/I, Infinite, FIFO) in Queuing theory ,' 7

02) Solve any two of the following: ) [2x8=10]
a)  Discuss the use of CPM & PERT in ?rowct Mﬁnagement.,
b) Explaintherole of quantitative techmqucsm decision making.
¢) -Describe the steps in Solving Assignmeht Problem.

RTO.



03) Solve any one of the following: [1x10=10]

a) A small bank is allocating maxim;gm 0%. Rs. 21,00,000/- for personal &
car loans. The interest rates per dnnum are 11% for car loan & 13% for
personal loans. The loans are-repaid at the end of one year period. The
amount of personal car L?z’iﬁnot exceed 40% of the car loans. Past
experience hasﬁ?ﬁ"@&’n»fﬁat bad debts to 1.2% of all personal loans.
Formulate &-soive Mg’ above problem to find the optintum loan
allocations. ¢, A\

b) Followip ¢ 'Eisﬁle distribution of defective pieces in a mapufacfiring process
of-a MNEC. in Pune.

No. 01 defective jtems 0| 10 20 30 40 50
P}%o'nablhty 10.01 1020 | 0154 050 | 0.12 | 0.02
: Consldcr the following sequence/of tandom numﬁEe%s.
38758, 19, 51, 66, 15,24, 78, 4208
Using this sequence, simulate thednumber '(')'f defective items for next
10 days. o O D s TN W\
04) Solve any one of the follbwing: o] [1x10=10]

a) In a group of 1000 cusg;ggmers,zthere are 650 who uses Jio connection,
400 uses Alrte] conneetion and 150 uses both connections, Jio & Airtel.
If a Customer is selected at random, what is the probability that he uses :

. _Jioonly N
i) Airtelonly o
i) Only one of the two connection and ‘ b &
iv) - At least one of the two connections. g '
b) A repairman is to be hired to repair machines wHich breakdown at an

1=2601-302

-average rate of 6 per hour. The breakdown ft ﬁ_d'hw poisson distribution.

The productive time of a machine is consider d to cost Rs. 20 per hour.
Two repairman Mr. X & Mr.'Y have lv@_g{f{;ji interviewed for this purpose
Mr. X charged Rs. 100 per hour. and he services breakdown machines
at rate of 8 per hour. Mr. Y demand Rs. 140 per hour and he services at
an average rate of 12 per hour. Which repairmen should be hired?
(Assumes 8 hours shift per day).

o




05) Solve any one of the following:

a)  Given the following:

Activity | 12 | 2-3

i fi“\w,,) ]
Cn

3-7

4-7

5-6

6-7

Duration | 3 {

(in days)

i # % F

# v
o A |
&v i,

[1x10=10]

Construct the project network. Calculate project durdition & determine

critical path.

b) Dete”%ﬁajﬁe theOptimal strategies for A & Beinthe following game. Obtain

vatue,of gae.

B’s Strategy

Bl

B2

AV

A’s A2

Strategy A3
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